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Note:	 The question paper is divided into three sections A, B and C. 

Write answer as per given instructions.

{ZX}e :	 ¶h  àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 8 × 2 = 16
(Very Short Answer Questions)

Note:	 Attempt all questions. Answer of each question should be 
given in 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& àË¶oH$ àíZ H$m CÎma 30 eãXm| ‘| Xr{OE& 
àË¶oH$ àíZ$ 2 A§H$ H$m h¡&

1)	 (i)	 Give answer of the following questions.

		  {ZåZ àíZm| Ho$ CÎma {X{OE&
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	 (i)	 What do you mean by casual migration?

		  AmH$pñ‘H$ àdmg go Amn ³¶m g‘PVo h¢?

	 (ii)	 ‘Labour is perishable commodity’. Explain.

		  "'l‘ ZmedmZ dñVw h¡'& ì¶m»¶m H$amo&

	 (iii)	 What is ‘Indentured Labour’?

		  H$ama~Õ l‘ ³¶m h¡?

	 (iv)	 What is intermediate technique.

		  ‘Ü¶dVu VH$ZrH$s ³¶m h¡?

	 (v)	 What is disguised unemployment?

		  AÑí¶ ~oamoOJmar ³¶m h¡?

	 (vi)	 What is fair capitalisation?

		  C{MV ny±OrH$aU ³¶m h¡?

	 (vii)	Explain the ‘wage fund theory’.

		  ‘OXÿar H$mof {gÕmÝV H$s ì¶m»¶m H$a|&

	 (viii)	What  is industrial dispute?

		  Am¡Úmo{JH$ {ddmX ³¶m h¡?

	 Section - B	 4 × 8 = 32
(Short Answer Questions)

Note:	 Attempt any four questions. Answer of each question 
should be given in 200 words. Each question carries 8 
marks.
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(IÊS> - ~)
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& àË¶oH$ àíZ H$m CÎma 200 eãXm| ‘| 
Xr{OE& àË¶oH$ àíZ$ 8 A§H$ H$m h¡&

2)	 Discuss the factors affecting labour force participation.

	 l‘ ep³V gh^m{JVm H$mo à^m{dV H$aZodmbo VËdm| H$s {ddoMZm H$s{OE&

3)	 Discuss the Dualistic paradigm of labour market.

	 l‘-~mOma Ho$ Û¡V-ÑîQ>m§V à{Vén H$s {ddoMZm H$amo&

4)	 Discuss the classical theory of wage determination.

	 ‘OXÿar {ZYm©aU Ho$ naånamdmXr {gÕmÝV H$s {ddoMZm H$s{OE&

5)	 What are the causes of wage differential between men and 

women?

	 nwéfm| d ‘{hbmAm| H$s ‘OXÿar ‘| A§Va Ho$ ³¶m H$maU h¢?

6)	 Discuss the functions of trade unions.

	 l{‘H$ g§Km| Ho$ H$m¶m] H$s {ddoMZm H$s{OE&

7)	 Discuss collective bargaining in India. What are the difficulties 

in the way of collective bargaining in India?

	 ^maV ‘| gm‘y{hH$ gm¡Xo~mOr H$s {ddoMZm H$s{OE& ^maV ‘| gm‘y{hH$ 
gm¡Xo~mOr ‘| AmZodmbr ³¶m H${R>ZmB¶m± h¢?

8)	 Make difference between social security and labour welfare.

	 gm‘m{OH$ gwajm d l‘ H$ë¶mU ‘| A§Va H$s{OE&

9)	 Discuss the economic condition of agricultural labourers in India.

	 ^maV ‘| H¥${f l{‘H$m| H$s Am{W©H$ pñW{V H$s {ddoMZm H$s{OE&
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	 Section - C	 2 × 16 = 32
(Long Answer Questions)

Note:	 Attempt any two questions. Answer of each question 
should be given in 500 words. Each question carries 16 
marks.

(IÊS> - g)
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& àË¶oH$ àíZ H$m CÎma 500 eãXm| ‘| 
Xr{OE& àË¶oH$ àíZ$ 16 A§H$ H$m h¡& 

10)	 What is rationalisation? Discuss the objectives and principles 
of rationalisation.

	 {ddoH$sH$aU ³¶m h¡? {ddoH$sH$aU Ho$ CÔoí¶m| d {gÕmÝVm| H$s {ddoMZm 
H$s{OE&

11)	 Discuss the objectives of the state regulation of wages. What 
are the principles of wage fixation under the auspices of the 
state?

	 amÁ¶ Ho$ VËdmdYmZ ‘| ‘OXÿar {Z¶‘Z Ho$ CÔoí¶m| H$s {ddoMZm H$s{OE& 
amÁ¶ Ho$ VËdmdYmZ ‘| ‘OXÿar {ZYm©aU Ho$ {gÕmÝV H$m¡Z go h¢?

12)	 Discuss the causes of weakness of trade unions in India. Give 
suggestions to strengthen them.

	 ^maV ‘| l‘ g§Km| H$s Xþ~©bVm Ho$ H$maUm| H$s {ddoMZm H$s{OE& CZH$mo gwÑ‹T> 
~ZmZo Ho$ {bE gwPmd Xr{OE&

13)	 Discuss the objectives and different approaches of workers 
participation in management. What are the pre-conditions for 

the success of participation?

	 CÔoí¶m| H$s à~§Y ‘| gh^m{JVm Ho$ CÔoí¶m| d {d{^ÝZ ÔpîQ>H$moUm| H$s 
{ddoMZm H$s{OE& gh^m{JVm H$s g’$bVm Ho$ {bE nyd© eV] ³¶m h¢?


